» BIG AGENCY VS.

BIG AGENCY
PRICING MODEL

(Middle Man Wins)

BOUTIQUE AGENCY
PRICING MODEL

(No Middle Man, Client Wins)

BOUTIQUE

RETAIL

Big Agency
Cost + Profit = Price
$5.00 + $25.00 (x5) = $30.0

MODEL PROBLEM:

Client is paying for the BIG Agency’s
fancy office, expensive mortgage,
utilities, travel, entertainment,
executive vehicles, staff salaries,
insurance, loans, etc.

WHOLESALE

Creative Person

Cost + Profit = Price
$2.50 + $5.00 = 87.50

%)

: %Sana

CLIENT

Consumer [ Client
Final Price

$30.00

CLIENT

Consumer / Client
Final Price

$7.50

brand 1 CO~CREATION
COmpaSS WORKSHOP

WIN / LOSE
SCENARIO

Consumer or Client
ends up paying for
the BIG Agency’s
overhead, hard cost,
and expenses.

WIN / WIN
SCENARIO

Consumer or Client
ends up saving
money with Boutique
Agency’s Direct-to-
Client model.



